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Lesson 13

There were two slides.



That's nice!




(Lead'in Look and circle.
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slide seesaw trampoline monkey bar
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‘Vocabulary ¢« ) Complete and match.
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> Present the Grammar Look and read.
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» How many slides were there two years ago?
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A There was one slide
R How many seesaws were

there two years ago?

w

two years ago.

There were two seesaws
two years ago.
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There is one slide.

There are two seesaws.

More examples: There was a trampoline. There were two trampolines.

There was a.monkey bar.  There were two monkey bars.




two trampolines two years ago.

2. Look!

five ducks in the river!
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one game shop here last year.
a great movie now. Let's'go to the cinema!
five oranges last week, but now there is only one.

a bird on the tree five minutes ago.




There are three mistakes here.

Find and correct them!
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in 2020 2 bus stops

@ There were two bus stops in 2020. @
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Produce the gl'amnlal‘ € -9 Role-play the dialogue. -

b There wasn't/ weren't... three years ago,

but there is/ are... now.




Today, we learned :

1. New Vocabulary

slide, seesaw, trampoline, monkey bar

2. Simple Past. There was.../ There were...

There was a trampoline two years ago.

There were two trampolines three years ago.
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